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1. Which of the following statement is/are corréct about Portuguese ?
|. Albuquerque captured Goa early in 1510.

ll. By the inspiration of King Emmanuel of Portugal, Vasco da Gama tries to discover
an ocean route to India.

Ill. Under the Portuguese, Cochin rapidly grew into a large and flourishing town,
and during their palmy days, it was, after Goa, the finest and the largest city on
the Malabar Coast.

A) I ITand Il B) Only land Il
C) Only lland D) Only land Nl

2. Which of the following statement is correct about Marthandavarma ?
|. Marthandavarma defeat Dutch in the Battle of Colachal in 1741.
. Travancore and Cochin make friendly relation by the treaty of Mavelikara in 1757.
Hl. The title Mandapathu Vattukalis given to Army Headguarters.
A} Onlylandll B) I, land Il
C) Only land lll D) Only Il and lli

3. Which of the following facts are correct about Vaikkam Sathyagraham ?
l. E.V. Ramaswami Naykkar arrested in connection with Vaikkam Sathyagraha.
Il. The Vaikkam Sathyagraha continued at the time of flood, 1924,
. The Legislative Assembly voted 1825 Feb -7, supported 22 persons and rejected

21 people.
A} Only | and lI B) Only 1 and Il
C) Oniy i and Il D) I, lland Il

4. Facts relating to Civil Disobedience Movement.
I. Gandhi declared non-violent struggle for Purma Swaraj.

Il. Gandhi’s Dandi March (12 March — 06 April) from Sabarmathi to Sea through
the heartland of Gujarat.

. “You planned a fine strategy round the issue of salt” Nehru would admit to
Gandhiji in February 1931.

A} Only | and lll B) Only Il and Il
C) Only land I D) |, land Il
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A} I, HandIli - B) Onlyland Il
C) Only Il and Il D) Only I and Ili
o
.‘ \E/\J 2OREMOEMLAUAMOWHN 012 ®OHY alOWIMAURI@ a@moem vodl ?

l. 1741-0a1 £80)@ @ L@ AOBEMHOMLAIBAD (W2IEH000 al®IRWEQSIETH.

Il. 1757-0a moecualleana 9saus] inld:one @lainllmoods 0o o flwio TanjBeITWe

randalla]l.
. 2smbaIEmIIIMLBOE afamoem’ saumo @aNIMEEIM mabalaldlesnmm cald.
A) Only land i B} I, Il and il
Ci Only { and Il D) Only Il and Il

W

EECUSEH0 MBIHNANOTDHOLT 2] @OSCoIOWY UGBS ofO@OOLOQIEM L@l ?
. eecusHe MV PINQIER frimwegyg &. All. eonmioal mowsnd Eeomianel.
. 1924-621 6E860j006 VARWEo HEUSNO @IV @SB,

lIl. clweme 1925 eanriaid) 7 o 6alogy Oaigl, 22 sated ollamiemaly, 21 suen

alomilaly.
A) Only | and Il B} Only | and Il
C) Only Il and llI D} I, Il and Il

4. Mot IMOIMadW] sRIMLOAS QITPIO R
. algdemavjecgfimyecuens] momul @eadlomoms: Mnee (ateuyoallal).

. womuiwies semulmoda] (aodal 12 — agialldd 6) menidaaieid mlo wnigooemleng
anjewealelees eselleelos).

. oaled geem 2jdlald aleand aoy mg) B ERVYmsMo aig)y”. 1931
eanEnIdlelad KorwlElemos &macny qvommilaly.

A} Only | and Il B) Only Il and llI
C) Only I and II 9)/1, Il and Il
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5. Consider facts relating to Social Institutions and Reforms.

|. December 4, 1829 declaring the practice of Sati or burning or burying alive the
widows of Hindu illegal and punishable by criminal courts.

Il. The raising of the age of marriage among the educated classes affective largely
due to education, economic pressures and the break-up of the joint family

system.

Il. The British Government followed the policy of non-intervention in regard to caste
and family and changes that have marked these institutions are attributed for the
most part not to any Governmental action but factors of a sociological nature.

A) I, lland il B} Only Il and I
C) Only l and Il D) Only land Il

6. Consider the following statement relating to Mughal art and architecture.

|. Akbar constructed Fatehpur Sikri the dream model of Qublaikhans palace in
Xanadu.

II. Jahangir started Indo-Islamic baroque style.

Ill. The Moti Musjid at Agra was constructed by Aurangzeb.
A) 1, It and B) Oniy | and I
C) Only | and i D} Only Il and NI

7. Facts relating to cause of French Revolutions.

l. In France there were certain in direct taxes which were collected not by state
officials, but by private individuals or companies.

Il. The clergy the Rome Catholic Church formed the first order in the State. It was
rich and powerful. It owned probably a fifth of the land of France.

lll. The revolution was not caused by the Philosophers but by the condition and
evils of the National life and by the mistakes of government.

A) Only land lll B) Only Il and llI
C) I, lland lli D) Only land I



71/24 - M

5. auoagatle MUN0aIMEMBEIN0WI0 alTlayonsBaIMIW L0 SIUIMWOT UMRIED:WD alBleneed:.

l. 1829 ciflavosrud 4-a7 adl31608165 QNWASOE ZHOIEMOOS SETBHNLT B6ER)%:)Gs
#lemons &yl BSIM ME @Yo Idee (@Il 8B:0sEle:0 dlenaloyavalie

UBleEuoDaOUYOOHEMTTY tndéuyoallal).

1. afleyoeioavo, MATLIGTEE: MaDdGo, B iSid3SL0MINmOMReSs @D ag)ilal agel

@%em’ alla paumimeow alleomnsmidesisaid alltuoaolo®e QAUBeIME.

1. nfglad’ doueMenad @6l nswio #:3sioemIETeR@Io S00)ETIM BSenISOTTD
ma@aoen allams@amaes, 9 MdAIMERes @PSQOgOa|SIETIR BoRERWd AlenaId0io

TURHO0D Msaldleag), adlal quoaiadle: MIGOQIDIAR “LISEEBROEN.

&) 1. 1hand Il Only Il and Il
C) Onlyland lll D) Onlyland Il
6. 2ASIOVWI0 AUOMINIBIOW® e MoIMUle] MIOPEORIMM (IYIIM alBlnemIenbs.

oMo teR LOERIAIIRMY §&0500ETIOMH Mg} DI ISHLOQ alE@Bal bl

N -~ (P e~ A

RRssard (rilibanilol)
1 manootiit @peoEla)ol snideand-oquoalss eusnoses) esvallaiacem.

Hl. epwneise ool amige suoomemend midem) o ®mosem.

A) |, Il and [l B) Only land Il
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A) Only I and Il <BY Only Il and Il
C) I, land Nl D) Only land I
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8. Facts relating to UNO

. The UN established close resembiance to the League of nations its initial
members 50 represented at San Francisco.

Il. The charter pledged the members to maintain International peace and security
and to cooperative in establishing political, economic and social condition
favourable to those objectives it forbade intervention in the internal affairs of
any nation.

lll. Atthe Teheran Conference in December Roosevelt, Churchill and Stalin called
for “a world family of democratic nation”.

A) Only | and Il B) Only Il and II
C) Only I and II D} 1. 1l and Il

9. Consider the following facts relating to plastic pollution.

|. More than 400 million tonnes of plastics is produced every year worldwide half of
which is designated to be used only once of that, less than 10 percent is recycled.

ll. Micro plastics-tiny plastic particles up to 5 mm in diameter — find their way into
drinking water.

lll. Some 11 M tonnes of plastics waste flow annually.into oceans this may triple

by 2040.
A} Only | and I ) B) Only I and Ill
C) Only Il and llI D) I, lland Ill

10. Consider the facts relating to Central Information Commission.
I. Sri Heeralal Samariya, Chief Information Commissioner.

ll. The Central Information Commission has been constituted with effect from
12" October 2005.

lll. The jurisdiction of the commission extends over all Central and State Public

Authorities.
A) Only land I B) Only | and I
C) I, lland N D) Only lland Iii
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11. Match List — | with List - Il and select the correct answer using the codes given

below :
List — |

List—1I

(Layers of Atmosphere) (Characteristics)

a. Stratosphere
b. Exosphere
¢. Troposphere

d. lonosphere

Codes :

a b ¢
A) 4 3 2
B) 3 4 1
C) 3 4 2
D) 4 .3 1

d
1
2
1
2

1. Temperature decreases with increasing height
2. Aurora Borealis and Aurora Australis are produced
3. Contains much of the total atmospheric ozone

4. Atoms of oxygen. hydrogen and helium

12. The National Waterway 3 (NW3) of India stretch between

A) Sadia — Dhubri

B) Kakinada — Puducherry

C) Kottapuram - Kollam D) Allahabad — Haldia

13. Match List — | with List — Il and select the correct answer using the codes given

below :
List -1
(Satellites)
a. GOES
b. INSAT
c. SPOT
d. Meteor -3
Codes :
a
A)
B)
C)
D)

N W W N
N BT
_L_L_.Lwn

i

VI \C I SO - §

List - li
(Country)
1. France
2. USA
3. Russia
4, India
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14,

15.

16,

17.

18.

Consider the folldwing statements and select the correct. answer using the codes
given below :

1. The Bhabar tract is a pebble studded zone.
2. The Bhangar represent the newer alluvium.
3. The Khaddar represent the older alluvium.
4. The Terai is a zone of excessive dampness.

Codes :
A) 1,2 and 3 are correct B) 2 and 4 are correct
C) 1 and 4 are correct D) 1,2, 3 and 4 are correct

Which among the following National Park is home to the largest population of
Lion tailed Macaques ?

A) Anamudi Shola B) Mathikettan Shola
C) Silent Valley D) Eravikulam

Which one of the following was the main theme of India’s twelfth Five Year Plan
(2012-17) ?

A) Garibi Hatao *

B) Faster, More Inclusive and Sustainable Growth
C). Growth with Social Justice and Equality

D) Poverty Alleviation and Industrial Development

Which of the following statement is/are gorrect about Reserve Bank of India ?
i. RBI is a member of IMF.
ii. The Reserve Bank of India was established on April 1, 1935. *
iil. Usha Thorat was the first women RBI Governor.

A) Onlyiandii B) Only ii and iii
Cl Only i and iii D) All of the above (i, ii and iii)
Which of the following taxes will be levied on imports under GST ?
A) CGST B) IGST
C) SGST D) All of the Above
-10-
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@OOPOWYM meg;ommcéacf& a@iea o moa? MSIQIEIE LM GBI
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A} 1, 2, 3 agyovilcu veclaoeny B) 2, 4 agyomilcu vasl@osm’
C) 1, 4 agomicd vodleoem’ D) 1, 2, 3, 4 agyerilas vedlwosy

WOSPJOW: LN GRUTERIBI0MEBEM @i auild:o MloaOMUORIT &:306m31d:0d
E06MEIS M agynlloswoens ?

A) epmesl 2108l B) adlesgom gaioel

C) eemaig cuoell D) sonlseygo

HOMIWIES (MENB00 ale@IoTuealaLdlw 25 (2012 — 17} (aIwdm GBuo @Y
aloeyMmuIEh ap@oenT ?

A) wdend] 000800
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C) monacis el momainies aisday
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i. RBI, IMF-a3 &0y @ootmaden.

ii. 1935 agafiad.1-moem’ cludal enioss 8dad snamy cuada leaowa.

iil. ®ar0 emongoloymy @RBEEm Aml®o RBI xnaidemad.

A) Onlyiandii B) Only ii and iii

C) Onlyiandiii D) oyeelad alosmmaiewgoo (i, ii and iii)
GST-06 &l¥2388 000006 @69 O@IM 0Tl @leEld aR@Ooem 2)3AEmIE: ?

A} CGST B) IGST

C) SGST D) migliad aloemmaleg oo

-11-
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19. Effective Revenue Deficit (ERD) equal to
A) Revenue Deficit minus Grant-in-Aid for Creation of Capital Assets

B) Capital Expenditure plus Grants-in-Aid for Creation of Capital Assets
C) Primary deficit plus interest payments

D) Revenue deficit minus interest payments

20. The report titled “The Indian Economy —~ A Review”, is an alternative of Economic
Survey 2024, is authored by

A) Krishnamurthy Subramanian B) Mr. Satyendra Kishore
C) V. Anantha Nageswaran D) Shri. 8. Ramakrishnan

21. “The public agreements between citizens and service delivery providers that clearly
codify expectations and standards in the realm of service delivery”; identify the public

agreement.
A} Manifesto B) Citizen Charter
C) Constitution D) PIL

22. NSSO stands for
A) National Sample Survey Organisation
B') National Sample Selection Organisation
C) National Sample Survey Office
D) National Sample Securing Office

23. The Attapady Soil Conservation Project in Kerala is getting assistance from
A) The Japan International Cooperation Agency
B) The Danish International Development Agency
C) The Swiss Agency for Development and Cooperation

D) The German Agency for Technical Cooperation

24. NREGAsoft is related to
A) TISS B} NREGA
C) Keltron D) LBS
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22.

23.

24.

7124 - M

QDRI IBBRIW OOUM jidhami] (EHD) a@@ioT @181 3m3em ?

A) ocumy &0l AN BIEIWm GRS Mileaymeimias of-ead-egoitu
B) meinm esiaial gJou’ ageiwm @omlad mjedlen)maimias od-edb-agaituy
C) no1ngiles @il gy’ alellvs Galwsadisglo

D} ocumyy @00 seamm’ olelln saieaadsslo

o

2024-pel quoquEsile: mderumes snicsnem 6l enamym eaaneemoall-ag) Glaly” agom

maesegienes Gleglods ageiciwe
A} & JariemmyBED avyeamen yid B) ). quemyim ssleaxod
C) all. @omm moswued D} w3, agioy. eomdn yatiemad

“mdallay’ swellaid] sosleiRleel (lelExaaio BOMBIMEBSLe AISMmadR] a@oad
BN A IDO@OAL0 VAN AlmOSMEImMIEHS L0 GAHENER Ha 9@} SOOI ; Halomy

85mus] @ildlojoleyds.
A) eomfieansaRo B) aiiglavend ajobgd
C) coemezism D) alloageg @

NSSO-adt a1ydemagalo

A} Moanem@ avomdld udend 8adneemEraud

B) moanemad muomllid enveleuad sodwesmemaHt i
C) moeaemad avomllcd mudeat sdadla

D) moatema@d cvomldd X @lens” oadlo

E08OOR! @5 {0S| MER MOOHHEM al@LEEE) MWaOoWo AIElENIMEY
A) 2o jom HBBMOUEM@ BH0-630a{80HM agymdmy]

B) worflat @pomoediad alle:aum aggadal

C) afeamm@simio made:eem@simymias o ageadayl
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A) TISS B) NREGA
C) Keltron D) LBS

13-



71/24 - M

05 Which is treated as the birthplace of Human Relations Theery in Administration ?
A) Toyota Motor Corporation
B) Bell Labs
C) NASA
D) The Hawthrone Plant of the Western Electrical Company

26. Which Constitutional amendment restored authority of states to recognise the Socially
and Educationally Backward Classes (SEBCs} ?

A) 106 B) 101 C) 105 D) 100

27. Official calligrapher of Indian Constitution
A) Prem Behari Narain Raizada B) Ram Parshad
C) N.V. Gadgil D) Nand Lal Bose

28. Article 248 of Indian Constitution deals with
A) Scope of executive power of the Union Government

B) Power of the Union Government to make any faw with respect to any matter
included in the concurrent or state list

C) Special Powers of Prime Minister's Office

D) Power of the Union Government to make any law with respect to any matter not
enumerated in either concurrent or state list

29. -Which State in India offered 50% reservation for women in local bodies for the first

time 7
A} Bihar B) Kerala
C) Karnataka D) Himachal Pradesh

30. S.R. Bommai V. Union of India case is related to
A) Article 356 B) Article 360
C) Article 362 D) Article 352

31. An Authentic book scientifically written by Koodiyattam
A) Hasta lakshana deepika ~ B) Natyasastra ¢

C) Natyakalpa drumam D) Thapathi samvaranam

-
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32.

33.

35.

36.

37.

38.

39.

Two Kerala visual arts have been included in the UNESCO heritage list.
A) Kathakali and Ottamthullal B) Theyyam and Koodiyattam

C) Koodiyattam and Padayani D) Koodiyattam and Mudiyettu

The team from which country always marches first at the opening ceremony of the

olympics ?
A) Greece B) France
C) Switzerland D) Host Country

Davis Cup is for
A} Cricket B) Tennis
C) Badminton D) Basketball

‘Nandanar’ is the Pen name of
A) P. C. Kuttikrishnan B) C. Govinda Pisharady
C) P. C. Gopalan D) R. Ramachandran Nair

Which is the first colour movie in Malayalam ?
A) Chemmeen x B) Kandambacha coat »
C) Balan D) Neelakuil

A ‘Sangam’ period work with reference to ‘Onam’.
A) Akananooru B) Chilappatikaram ¥

C) Madurai Kanchi , D) Periyapuranam

Who is the writer associated with the ‘Malayali Memorial’ ?

A) E. V. Krishna Pillai B) Kumaranasansy

C) Bodeswaran D) C. V. Raman Pillai

The rescue operation launched by India to bring back the National Standard in Israel
during the Hamas-lIsrael confiict.

A) Operation Ajay B) Operation Vijay *

C) Operation Bluestar D) Operation Hamas *
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WIODIIESIWIOS OOy alglenalicd 2B SIOIR588 C6NE GaOSlw G100 BRI0

QU6 ?
A) sLsElwio 850mIeaello B) emgauio #slwogale
C) & slwogalio alswemlwio D) exyslwogalie myslewglo

sglnllemilen 9Ece10sma sl a@®y @220 IMISs SImoem ag)Ba oPio @BE o
@oda] O21QIM@ ?

A) Ao B) (anommy’

C) migovdelens’ D) moclenw momyo

ewallay’ af ag)atilmiaamosm ?
A) @leog B) esarioy

C) eruoauwdiicend D) enoavesg seniod

MIMOd @DOIOS BLllend Mmonmoen’ ?
A) ol avl. gl jaxiemad B) ol. ewocfios aflayons]
C) all. qdt. 3u00000ID D) ®od. eooalimsid mowd

DRIWO8ETISE @GO BHad Milrla agmosm ?
A) ealaflcd B) ®6n06nin @605
C) enuoeih D) afleiwsiodd

'8306Mo’ al02dUWlHNIM B0] ‘oI’ BORIARISEITI®EI &)@l
A) @ramomyc B) alleigj@lle000

C) oween el D) eaidl@alyeoemo

22108l H2emOCIeRMOR] MIMLOQS ag)PIB B0
A) . all. & jaddemallas B) #3m00mo00od
C) eeruoswwrjomd D) mil. all. coadalles

aD@OM M(MER@ Mocidad@BIiles enmewelld eaudlw mleono widlal 6B:06ms,
QUEOM 0 @ROoEl.] AL IUBGHMo

A) 6300480aum @0sQ’ B) &0qe0au® allgw)

C) &0qa0auad epyiayod D) &0gje0astth anmomy
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40. The new Vice Chancellor of Kerala Kalamandalam
A) Mrinalini Sarabhai B) Dr. Mohan Kunnummel
C) Dr. B. Anantha Krishnan D) Dr. S. Bijoy Nandan

41. Which memory is used to hold the ‘Boot up’ program in Computer ?
A) Read Only Memory (ROM) B) Random Access Memory (RAM)
C) Cache Memory D) Secondary Memory

42. Name the system software that converts a high level language program into Machine
language line by line.

A) Assembler B) Compiler
C) Interpreter D) Operating system

43. Which is the four digit Helpline number for reporting a cyber crime in the National
Cyber Crime Reporting portal ?

A) 1940 B) 1930 C) 1098 D) 1947

44. What does ICANN stand for ?
f\) International Corporation for Assigned Names and Numbers
B) Internet Corporation for Aliernative Names and Numbers
C) Intellectual Corporation for Alternative Names and Numbers

D) Internet Corporation for Assigned Names and Numbers

45. One of the popular online chat platform ‘Omegle’ has shut down its operations on
Nov. 8, 2023. Who is the founder of ‘Omegle’ ?

A} Sam Altman B) David R. Woolley
C) Doug Brown D) Leif K. Brooks

46. Among the following Indian scientists, who have been awarded the Bharat Ratna ?
i. Vikram Sarabhai
ii. A.P.J. Abdul Kalam

iii. Homi Bhabha
A) Only i B) Onlyiandiii
C) All of the above (i, ii and iii} D)} Only i
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BHOMHLIODEMURIGTIEN] 0l Gl eecumy’ a1omaved
A) agemogilerl moroeows] B} eawo. smoandd #:yomysomad

C) eawo. snll. @ama3 & jasismad D) eawo. agay’ endleggow’ maad

BMUNSAIE ‘e114S @a]” B0 BaNIRBA ©.21QJond 9aleoUlleenimm eaand]
A) Al asridell onand] (ROM) B) oomdave mpestuay eamd (RAM)

C) &0z oaad D)} emeamdend eamd

B0} OO HEINIT OO B IOWOAOM Sl @InuwdeIss UGG oD al@loud@mmmo
62193 MilgRo @MV HUWGIEXD Gald

A) @omosyd B) #eequed

C) o@derigd D) asgjeogleus migyoe

MOaHEM@ TVENID OO0 laq|odglows siodgaldd eamerLd B yD 30 Glegjods’
£2QMEIDI88 MOLIES Ha0@al eeId MmMIB agimosny ?

A) 1940 B) 1930 C) 1098 D) 1947

ICANN ag:mmoem avgafl loeyema 2

A) DRGTBEMA 60D BOUR B0 @ROOMADL Moy @B mamudmy’
B) @dsms 88:08080auM eanod ARW@SdeMElOl emoms @ maudmy
C) ofeeym 88:080j60amd Ganod @DRBSBEMEINT Bthom” @My maudmy”

D) o@tems e£:00aje0aum 008 @reeTmdas ety @My maudms

gnele exsdena® 210g gjogeatoaysgloeomon ‘sBeanelod udcmme 2023
MAoend 8-07 RS o)ialis). ‘BEamal HM@ qundaism @ooen ?

A) Moo @risnom B) sawallaw amd. augel

C) awod runermd D) eflag o, enigssn

@I6Y alOTm Hemyid worpmendld Eadensem @oomanno ald g w 7
i. o muoroedwy

ii. ag). afl. om. @Re RS0

iii. eanodl @oa

A} Only i B) Only i and iii

C) aumglad cosmmeuewgoo (i, i and iii) D) Onlyii
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47. The major science objectives of Aditya-L1 mission are
i, Study of Solar upper atmospheric (chromosphere and corona) dynamics.
ii. To demonstrate Safe and Soft Landing on Solar Surface. »
iii. To demonstrate Rover roving on the sun. x
A) Only iii B) Only i and iii
(2) Only i D) All of the above (i, ii and iii}

48. Which of the following statement is/are correct about National Green Hydrogen Mission ?

i. To make India the Global Hub for production, usage and export of Green
Hydrogen and its derivatives. -

i. The Mission will lead to significant carbonisation of the economy, increased
dependence on hydro power projects. »

iii. This will contribute to India’s aim to become Aatmanirbhar through clean energy
and serve as an inspiration for the Globat Clean Energy Transition.

A) Onlyii B) Only i and iii
C) Only ii and iii » D) All of the above (i, il and iii} .

49. Which of the following statements is/are correct ?
i. The Environment (Protection) Act was enacted in 1986.

ii. The Forest Conservation Act, 1980 was enacted to help conserve the country’s
forests.

iii. National Green Tribunal has been established on 18-10-2020 under the National
Green Tribunal Act, 2020.

A) Only i andii B) All of the above (i, ii and iii)
C) Only ii andiii O} Onlyii

50. Which of the following statements is/are correct 7
i. Scientists discovered a recently formed ocean inside Saturn's moon Mimas.
ii. 3D printer creates brain tissue that acts like the real thing.

iii. The UN Climate Change Conference in Dubai, United Arab Emirates, closed on
03 December 2023.

A) Only i B} Only ii and iii
C) Oniyiandii D) All of the above (i, ii and iii)
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47. @doyag@d1 evmyeslen (wom Bl 30 encLawoem
i. @mog0d @ogd @EEQTMIOnTlE (moemomadoo)o BBOBOEMWDY0) 2IRIMOBRD
WS 1012188 alomo.,
il. mossdsRiImRIEEIGR MRSl BYE1RINIEOD eIBAlws HoElkalsnom.
i, @800 M@ BOBIMEF B0aTlendd.
A} Only iii B} Only i and iii
) C) Only i D) aegl@d atosmmcuawgoo (i, i and jii)

48. seuWl® aod® eecoWR®M BVDIOODBOYC] 2] BOSLOWIT (IGROUMEET agymoen]
aGemOaEHWIeNT ol 7

I. (Al esaniwredwe maile awwdeaigloysainswyo OBIBMEAM L0 HaIGWON
Ovlmie SHORIaGlesnies EDENIY BRI HODIOH® AYBs.

il aomye mvmucauyImaes DEMYBIW) H:OBEUOOMETVHTIGRIBO Y0 REIOS(UA YD
URLE GO 245300 @wailen maleass o mafleeyo. _

lii. vyavecw prdmeGEees epenTided @OBSIMISR EOTHIWIOS it 07 e
V@AM MW ie ADENOH 103AD HIDBE IAUBGHNIBTIT (B2 10BM@OBLHW o

621 10. _
A) Only ii B). Only i and iii
C) Only i and iii D) ayedldd cuoemmoiewgo (i, i and iii)

49. @OPIOW LM o KOsl QB / aRABOOBHWIET (0@ 7
I, addloudia] (orsusm) Mwae1986-@ alaiald Qumy.

fi. 1980-02 cummicnesism dwao 02 BT QUMEBOS uorsaflasmatmiealsnd]
e i@ 'cuamy;

iii. vl aodl® aeisenysmad @0z 2020 tald@:000 18-10-2020-@ sewdlw aodlo
SRS em@d aquadallmacef.

A) Only i and ii B) miaglad alosmmaiawgioo (i, i and i)
C) Only ii and iii D) Onlyii

30. @269 oM (UMUM@ RN/ aROMOOBOWIEM Lo@] ?

I. rl@es palanmow (ayerd) alaomilmesl@d @os emles ojalond:oems aqVMY(Bo
WO(REEDD H:66MmBE.

ii. 3D fi@d wodma @000 Galoeel (IQBEBE0M aqlatie @B0006BO8 M Jatlloeyom;.

iil. @eesmaal @momi agyaleogmiea BenIo@d msam @Y. af)i. @oeIo0umao
alyelleom aeomgmoe 2023 allavcerud 3-aF @] o).

A) Onlyi B} Only ii and iii
C) Only i and ii D) aysg@d asosmmauemweoo (i, i and fii)
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51. Arun travelled 25 km 50 m by bus, 7 km 265 m by car and the rest 1 km 30 m he
walked. How much distance in kilometres did he travel in all ?
A) 33.345 B) 34.065 C) 34.345 D) 33.065
(-r'
52. A student has to secure 40% marks in an examination to pass. He got 320 marks
and failed by 80 marks. The maximum marks are
A) 800 B) 1000 C) 1500 D) 1280
53. An article was sold at 10% gain. Had it been sold for 250 more. the gain would have
[ been 20%. Then the cost price of the article is
|- 20 A) 2,500 B) 2,000 C) 1,350 D) 1,500
#3250
e 54. Anamount deposited for 2 years at simple interest rate 10.5% will yield same interest
o] in 2 years if deposited for compound interest for 2 years {compounded annually) if
the rate of compound interest is
g A) 9.75 B) 10 C) 10.25 D) 10.5
7ol
( : i \
gV o L' 55. Sita reads 7 part of a book in one hour. How much part of the book will be read in
l|k )
1 s [ -
2 ? RSN, e
ol 25hours 2 N = l /z;
¢ 10 15 11 19 04k — LN
& A) — B) =S — D
3} ‘ ) 20 ) 20 ) 10 /) 20 = d_
. 4o
J 56. 6 men and 7 women can finish a job in 12 days while 2 men and 5 women can finish =
5 it in 20 days. In how many days can 10 men finish it ? X
3ot
i e A} 20 B) 22 C) 24 D) 26
, i'?/*957. P, Q, R and S start from the same point to walk around in a circular path, in the
".’a‘ 1 same direction, around a garden whose circumference is one kilometre. P walks
5 km an hour, Q walks 4 km an hour, R walks 7 km an hour and S walks 11 km an
% * hour. How long will it take all four to meet again at the starting point ?
g A) 3 hours B) 2 hours C) 1 hour D)} 4 hours
: )t - -1
58. The value of (-343)3 is : { é’%’ 2 e ' 1
| A) 49 B) 29 C) —49 _ D) ~29
\"59. How many balls of radius 2 ¢cm can be made from a solid sphere of lead of radius
LY 7 . 10em?
AT & A 25 B) 50 C) 100 D) 125
o 60. If seven times the seventh term of an AP is equal to 11 times its eleventh term, then
the 18" term of the AP will be
A) 1 . B) O C) 2 D) —1 g
A G A - -22- 3
4,? g y wf ’f”-
k. pxr — %0
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51. @y sundad 25 km 50 m 8o B0ocked 7 km 265 m po eruosst 1 km 30 m ©o Mmsany,
BROUT @DOE: ag)® Sleadlgd ayeo auemIdlal) 9

A) 33.345 B) 34.065 C) 34.345 D) 33.065

52. &y allzoimd allgo)essmensiad 803 adlenldd 40% 0odes sndoldsseme. aoaid
320 aoies cusend) 80 2OBLSIN @®MIGY. ag)NOE @MU Q0DHEY ag)® ?

A) 800 B} 1000 C) 1500 D) 1280

33. &wysasume 10% aoeomid Qg 250 agiemo et allglagemssiad 20% BMNS0 HENEOBMow
@M. B30@ ealcumalon afler o
A) 2,500 B) 2,000 C) 1,350 D) 1,500

54. 10.5% agm eiglonow aello diossicd 2 Udaneomg) rlesda oy Q) 2 ubanmy]
Meglad @em alelle 2 udausemos {odalldo Mot@osdloflal) #nygy arelugon
Hledsaligmd adaonyo. @BJOW Hygiatelnw 16 doss ?

A) 9.75 B} 10 C) 10.25 D) 105

55. mie 1 meri S9406B:06NE' 80 aly oo Tlon 4 ®20o 0wl 2y alldorm,,. 2% aemlaangd
N8gldd ey sOOM agim @wo QUORIEe 0 ?
10 15 11 11
A . e o e
) 20 ) 20 ©) 10 D) 20
56. 6 ayojammoianie 7 (le-Besrgo 12 dicuame 60603 60y ezoel alOEEleoBn00b i),
2 alidgexrzodenio 5 (ledenio 20 dlalme O06NE @ GROLN alyBEI@OLeoD erdlwyo,
oyl 10 i i03e8000866) ag)@ Elaimo ad@osns @m soel 2l BOHloBe00d svilwyo ?
A} 20 B) 22 C) 24 D} 26

57. P, Q, R, 8 agavicu @se enflosyaflab ol B0y UIODISIOIReNes anoeid aoew
dleaflad 1 slezodgd 2RBQUGS 630) alIBMIZOMIN 213320 NS BooEkesnymy. P
asmlesydial 5 elecindigog, Q memlengclad 4 eleandlgoge, R oeniloanclad 7 eleen
dlgoje S aevisndlad 11 &rleandlgole msenimy. godslos Golo@laflal Mol ine
aflereie #enzi215008 agym MRQODSIEN0 ?

A) 3 oamlesyd B) 2 aemenyd C) 1 asmlenyd D) 4 asmleeyd

2
58. (-343)3 agmalled ogeis
A) 49

1

® % 49

59. 10 ev@ldlgd aupmaies DVIWOTIENR EUENOSEIES ailom 2 om@dlqd cupmmes
W alDYEntd Tidanlenomd elwio ?
A) 25 B) 50 C) 100 D) 125

C) - 49 D)

60. &y moomeewamia,es UPLODEXTD aIBEBI6XE agyy)msens @oaled alelomanmoe A IBEEHET
11 ossdle’ @ a130006m®laR, oadmeswaemla,es 18-20 alge @pdles jo.

A) 1 B) 0 C).2 D) —1
A -23-
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61. Find the odd one among the following. 20
A) French Open B) US Open C) Wimbledon D) Davis Cup 1{’2 )
62. Problem : Hypothesis : : : Prognosis. Fill in the blank using any one of the _ Qia
options.
A) Condition B) Treatment C) Experiment D) Analysis
63. If RIDE is coded as 36 and DESK is coded as 39, then what will be the code for
RISK ? bt
A) 60 B) 57 C) 58 D) 56 ; 4
64. Find the wrong number in the following series. 4
3, 10, 31, 90, 283. -
A) 10 B) 31 C) 90 D) 283 ~ A
B5. At what time between 4 and 5 will the hands of a clock be at right angles ?
A) 38% minutes past 4 B) 38% minutes past4
9 . 2 48
C) 38E minutes past 4 D) 385 minutes past 4

66. The calender for the year 2025 will be the same for the year
A) 2031 B) 2030 C) 2036 D) 2033

87. Seven members are living in the family. Q is the daughter of P. B is the brother of R.
G is the mother in law of A. B is married with A. B is the uncle of Q. D is the father
of B. What is the relation of B with respect tc P-7

A) Brother B) Sister in law
C) Brother in law D) Mother

68. Raju and Radha start from same location. Raju trace 5 km east and then 6 km
north-east. Radha trace 4 km south and then 4 km south-east. What is the shortest
distance (in km) between Raju and Radha ?

A) 10.80 B} 12.80 C) 13.45 D) 16.28

69. Six people are sitting in a row. Y is sitting between X and R. X is sitting next to Z.
Z is sitting next to P, who is sitting on the extreme left and Q is sitting next to R. Who
are sitting adjacent to X 7

A) Zand Y B) P and X C) Yand R D) QandyY
70. Four friends were sharing a plumcake. They decided that the oldest friend will get an

extra piece of cake. Ram is two months older than Raj, who in tum is three months
younger than Jay. Sam is one month older than Raj. Who should get the extra piece

of cake 7
) 5 B) Ray C) dJay D) Sam
A -24@» i A 4 )/ Q* .l
@ b y x Z P R P s
3 i . y
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®IOPORIMAURAE} agcmbs)m DHOENSBT B>,
A} (anem) @0gjend B} wy.agov: &l C) aflesnldavem D} eavaftay dgf

(aJG@o : @oM@Omo : - Qo 1Mo, ape®Eslale Boa laUmdtd S I18WoUlafuoimym
al@lafleeys.
A) @oaimun B) alelon C) aidlestemo D} alleseimo

RIDE agoma’ 36 @owye DESK agymer 39 Qo U 2 igiginmeeld, RISK-of
BB0W ag)moR]dleno ?

A} 60 B) 57 C) 58 D) 56
®OP oW eursMieien amEOR MM B:06meEm .
3, 10, 31, S0, 283.

A) 10 B) 31 C) 90 D) 283
4 Mo 5 e psiad age’ MAWANET 630} ELOBEOTD OOEBHD Bloar) BB06TRIENE0CL s 7
A) 4 &diermy 38% allcrdley B) 4 &6y 38% illgpllat
C) 4 adiormy 38% allerly D) 4 o9lemm, 38—22- Aol
1

2025-08a1 =2ied dasiEmimio comomaoeldeanio.

A} 2031 B) 2030 C) 2036 D} 2033

agy¥ @ootsrsscem dysieneTicd monaieaima P wes asacem Q. R ex msanosamos B,
A oo mmiolwmeosn’ G A wymoe) B alaisadlmmos. Q o @eomocimosm’ B.
D o6 B s aflmont B g P WIBOWIRK SNIMWO oGO ?

A} queansea B) mowmyd

C) anglun? D) @nom
OB 20mi0 80 MORITBITINOENT ®yS6TBI®, 082y 5 @3, o Bleem o allmis't @l d.
QUssEstasne allmysdom,. eow 4 #leriodlnd emen)e aliaris 4 Sleadind emes Blveaio
aflomysdom, asmiae A0wwe eofengs AGIRCLI0 SO0 Byto (Sleedigaldd) agimeos 9
A) 10.80 B) 12.80 C) 1345 D) 16.28

6 eaid sey ol odkesyrm,. Y @ X o R mye soswiad sodlesyoma. X aoem Z of
BRSYE ET=,NE. BOEEIBLIRE SISO UGS s0dleenom P wyes @os o Z 0TI,
Q, R oY @es o ;odkeeimy. X smog aaidons EDB1BOIMNEY BDE0EBHWET 7

A) Zoc Y oo B) PsoXeo C) YeoR o D} Qoo Y 90
ORI TRAC T EHR OBBE) LIRS OO, PR ILo (IOWDIBH TVYaOJETEIT B0y Bens
@) @RLTE200f A B OmenT @rad @Hlogmaailay. 0oo, eogdlemencd 2 aomo DO,

ROBMEH0R 3 2000 MHEW®IET, R0EEMEewd 803 MOMo IEBDDIENT V00, BRUIBEEHHS
@RdL00enT eidlesnsnsay ?

A) 000 B} oo C) moy D) quoo

-25-



71/24 - M

71. Choose the correct question tag.

Something happened at the college,

A) don'tit? B) hadn'tit ?

C) didn'tit ? 7 D) isn'tit ?
72 Put in the correct preposition.

The programme starts 8:15 am.

A) at B) in

C) on D) over

73. Choose the correct altemnative from those given as options.

The Principal to speak to you.
B) wanting

A) wants
C) is wanting D) was wanting

74. Tumn the given sentence from active voice to passive voice. Specify which of the

following answer is right ?
Mary opened the door.

A) Mary was opened the door.

Ei) The door was opened by Mary.
C) Opened the door by Mary.

D) Mary has opened the door.

75. Identify the best way 10 express the intended idea in the following.
A) | like her childish face.
l’3) | like her child like face.
C) | like her face like child.
D) | like her face like a child.

A -26-
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Identify the type of sentence.

What a super show !
A} Declarative sentence B) Interrogative sentence
C) Imperative sentence D) Exclamatory sentence

Use an appropriate article.

He didn’t get job he applied for.

A) an B) a

C) the D} none of the above
Michelle is than Natasha.

A) old B) more old

C) elder D) older

| look forviard from you.

A) for hearing B) for hear

C) to hearing D) by hearing

Report the sentence.

Joshua said to mom, “| have been here”.

A) Joshua told mom that | had been there.
B) Joshua told mom that he has been there.
C) Joshua told mom that he had been here. ;
D) Joshua told mom that he had been there.

Complete the given sentence using a suitable phrasal verb.
| arranged to meet Tony in the mall yesterday, but he didn't

A) fall off B) turn up
C) move in D) clear up

Find the synonym of the word, ‘amicable’.
A) cruel B) large
C) friendlyv D) simpie ,

-27-
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83. Which of the following word is opposite to the word cautious 7
A) reckless B) careful -
C) slim D) beautiful

84. Which of the following is correctly spelt ?
A} catastrophy B) catastrophi -

C) catastrophe D) catestrophy -

85. Find one word for a person who has no money.
A) stale B) agile
C) passerby D) pauper

86. What is the meaning of the idiomatic expression, “round the comer” ?
A) very near B) difficult

C) spontaneous D) cleary

87. Choose the compound word from the words given below.
A) table B) hallway

C) ceiling D)-computer

88.  What is the female tiger called ?

A) tigress B) ewe
C) calf D} tiger cub

89. A prefix is letters that come at the of a word.
A) ending B) middle
C) beginning D) top

90. Prepare the of your research work.
A) Synopsis B) Synopsees
C) Synopses + D) Synopse *

| Il | | ||'f|".. l
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BB £H0SEWIBLOMURITM BRY IS DO®ED Kl afy@lel5es). @ema ?

A) dlegemuy B) ceicussd, C) weniloo ¥ D) @loyrlay

B U002 INETIN §BoaOGEMEaE 2

A} &yglad B) qflescd C) wyoie6cd D) anyoieuamod

@D agom GO IO PVUBHOOHE aga ?

A) BOsd B) mmwd C) apomgd D) mmyggad

-

@l + MA@ ag)M@ 2RO Y® 18,
A) dflemad B) aloiemndd C) dfloomad D) afloeomad

00280 83:4l@MO@AIM — SHE BRAEROHO 8.

A) aiEcudom B) momeommd C) eomsewyation D) @o2dad

MI®M ag)m alselend (Rleloto ag)9y®id:.
A) avdd B) oo C) myailad] D) qvymy

QG)ENO 2™ alBo alldlea Py k.

A) agem + myo’ B) agerd + myo" C) agemd + 9o’ D) agem™+ oo’
‘BrlaldemuiEe’ ag)Mm ©amwelwes @IdmeaT ?

A) @raissemiad csosimalad B) alles ol esoemileeymalad

C) senaaliaico sgoomalnd D) om0 aowimaind

@D%Io g BBB®N0 WOLM alEEna ?
A) uadnd B) cuodlaee

C) aoalui D} cuodige

FWo ag)aM cizowlex Allaidimalzendimis.
A) miingec B) seo0m0

C) &dkme D) widlero




